FEERAER C LD RERIER (BATA )

= ITHIBAL =R (&)

TEERFE R TEEREK

MAE-RELES BE%E &
RIRER 33 47 24 71
X 37 /N2 8 11 0 1
R 37 2R 3 4 1 5
B EAR 12 31 28 59
B E B E R Y 1 0 1 1
EEEELES 3 0 4 4
R RRE MR ER 1 0 1 1
ko £ 3 0 3 3
XEE 3 0 3 3
EREBEIIELUS— 1 0 2 2
28H5D 5 0 7 7
DX R 2 0 2 2
WEREM 12 0 16 16
e MR EY - BT 5 0 6 6
SEREE MK 4 0 6 6
HEt 96 93 104 197
CER) EHREICLIBREEH-BEBEEHFET,
ERBREDOKR(BAT1ES)

R
T FE R 7 FAEZE BE%
£ Rt

E3p) BE#R R iR BEER &t
NEEEM A 12 0 12 6 0 6 18
NEEEM B 6 0 6 2 0 2 8
NEEEM C 2 0 2 3 0 3 5
NEEEM D 3 0 3 3 0 3 6
EEEEALER A 0 11 1 1 7 8 19




TA3BETHOEE—EMICHIT SR DERFARE - K FIKR

25H 26H 27H 28H 29H 30H 318
B EAR 2 2 4 4 4 5 3
[EEEBALIEE 3 3 2 1 0 0 0

CERERBERELTVET,




